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THEXy « T - FER - 5 Mo % LFENAL B G EHAm & TE (B ESM)
JEK R
= 1 136, 762, 832
AT =T
= 1 135, 667, 746
E¥LT
= 1 92, 886
HRES
m3 60 331.9 19,914
b S T Cadl- ERiRY L&)
m3 60 994 59, 640
FEHA (-27) +wp 150, 000m3 AT
m3 60 222.2 13, 332
7 VR AN =h T
= 1 133, 359, 832
7 VERANE 94 PNIES. 8m N 6. Im 457
m 12 10, 546, 933 126, 563, 196
7" VA hERRE H1400 X B400 X L1083
m 12 197, 606 2,371,272
7" Vi AN FERE H1400 X B400 X L2700
m 3 196, 967 590, 901
VIR 30-12-25(20) (& JF)
m3 36 24, 865 895, 140
AR SD345 D13
t 0.03 185, 005 5, 550
AR SD345 D16~25
t 3.7 221, 166 818, 314
Tl — T
= 1 741, 440
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AR F=<40kN/m2[t =120cm]
= 1 44, 379
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= 1 1, 329, 640
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= 1 1, 140, 728
VIR 30-12-25(20) (& JF)
m3 10 24, 865 248, 650
Tl — AT
= 1 278, 040
B & LT D25 L=1.13m
VN 78 6, 561 511, 758
s LRF Y LT
= 1 102, 280
i1
= 1 1, 074, 300
7" VR AN 600X 700
m 12 89, 525 1,074, 300
N
= 1 171, 936
TAT 7 MifZE T
= 1 171, 936
- R (B - BRI R TR A M-30 £ 0 & 250
mm
m2 48 1,928 92, 544
FE (FaE - B FAESRI T AT, (20) A3 50m
m 3. Omtd
m2 48 1,654 79, 392
B 1
= 1 202, 170
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FEARIBA AT L
= 1 202, 170
B =h v WIER Gr-C-2B 21maAl s
Fiimes 3
m 15 13, 478 202, 170
Gan
= 1 720, 980
ARmE T
= 1 720, 980
AW B
= 1 720, 980
B TR
= 1 136, 762, 832
MR E
= 1 16, 414, 863
B3 TS
= 1 3, 053, 588
TR
= 1 1, 809, 872
GEREGdrT Foy IRV Ty = ¢
= 1 1, 809, 872
BIGREsET (K30
= 1 1,243,716
MR E (FE L)
= 1 13, 361, 275
Wi
= 1 153, 177, 695
B
= 1 45,171,923
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T AT

= 1 198, 349, 618
— R

= 1 30, 660, 382
TS

= 1 229, 010, 000
THEBLFH Y %H

= 1 22,901, 000
TH#EG

= 1 251, 911, 000
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